s<Sk«tbaladzeR iÖtIy> paQ>. 2.

Ay< v&]> = This is a tree.  

s> gj> = That is an elephant.
 gj> gCDit = Elephant goes.  
Aj> itóit  =  Goat stands. 

v&]> )lit = Tree bears fruits.   
ram> pQit =  Räma reads.

· - - - - 

#y< lta = This is a creeper.  

sa bala = That is a girl. 

bala itóit = Girl  stands.   

mala Mlayit  = Garland fades.   
lta pu:Pyit = Creeper flowers. 
 sIta vdit = Sétä speaks.

_ _ _ _ _ 

#d< pu:pm! = This is a flower.  
tt! paÇ< = That is a vessel. 

paÇ< ptit = Vessel falls.  

neÇ< S)…rit =  Eye throbs. 

pu:p< ivksit = Flower blooms.  
muo< lsit = Face shines.  

k) àîa> - - 

1. s> k> ?  s> gj>, 

2. k> gCDit ? gj> gCDit, 

3. sa ka ? sa bala, 

4.  ka itóit ? bala itóit, 

5. tt! ikm! ? tt! paÇm!,  
6. ik< ptit ?  paÇ< ptit, 

o)    
tdœ (That)    zBdSy il¼Çye=ip àwmaivÉi´êpai[  - - -

   
pu<il¼e - -   
s> 
taE 
te

ôI il¼e - -   
sa 
te 
ta> 

npuskil¼e - -  
tt! 
te 
tain 

g)  " tt! " zBdSy êpE> vaKyain pUryt,

1. - - - cUt>, 

s> cUt> = That is a mango tree. 

2. - - - maltI, 
sa maltI = That is Mälaté .

3.  - - - vq>,  .

s> vq> = That is a banyan tree. 

4. - - - kmlm!, 
tt! kmlm! = That is a lotus.

5. - - - jatI,  

sa jatI = That is Jäté .

6. - - - k…summ!, 
tt! k…summ! = That is a flower. 

")  The terminations  (of verbal endings) of the Present Tense are - - 

à. pu.

it
t> 
AiNt   
gCDit 
gCDt> 
gCDiNt 

m. pu.   
is
w> 
 w

gCDis  
gCDw>  
gCDw 

%. pu.   
im 
v>
m>

gCDaim 
gCDav> 
gCDam>

zBds<¢h> çabdasaìgrahaù = Vocabulary
s> m   sa  f  tt! n  that 


pu:Pyit bears floers 

v&]> m   tree 



vdit P.  speaks 

lta f  creeper  



ptit  P. falls 

pu:pm! n  flower  



S)…rit P. throbs



gCDit  P. goes



lsit P.  shines




itóit P. stands  



ivksit P. blooms 

)lit P.  bears fruit   


cUt> m mango tree



pQit P. reads



vq> m anyan tree 

Mlayit P. withers   


kmlm! n lotus 
-----===========================----------

